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QUESTION 1
DRAG DROP
Match each description to the correct management tool for Aruba AOS-CX.

Select and Place:

Management Tools Answer Area
NetEdit Management Tool Description

Aruba CX Mobile App

can run as an OVA

requires ADS-CX switches to support HTTPS, 55H, and REST access

connects to switches via Bluetooth or Wi-Fi

|
|
|
| includes a feature for stacking automation

|
|
|
I
|

supports SNMPv2c to discover third-party devices

Correct Answer:

Management Tools Answer Area
NetEdit Management Tool Description
Aruba CX Mobile App || [NetEdit can run as an OVA
|NetEdi{ requires AOS-CX switches to support HTTPS, S5H, and REST access

|Aruba CX Mobile App | connects to switches via Bluetooth or Wi-Fi

|Amba CX Mobile App ] includes a feature for stacking automation

|NetEdi{ supports SNMPvZc to discover third-party devices

QUESTION 2

What is true about VSX? (Choose two.)

A. VSX is ideal for Campus access layer deployments where ease of deployment is needed.
B. VSX allows upgrading members with near zero downtime or loss of packets.

C. VSX is available on all Aruba OS-CX switches except the 6300F model.

D. VSX is implemented on static port switches. VSX-plus needed to stack chassis together.
E. VSX run separate control planes to reduce latency and improve performance.

Correct Answer: BE

QUESTION 3

Refer to the exhibit.
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Access-1# debug 12mac event
Access-17 debug destination buffer
Access-1= page

show debug buffer

2020-05-06:22:32:52. 601427 |12mac-mgrd |LOG_DEBUG | AMM | - | L2ZMAC | L2ZMAC_EVENT [macmgr_m
ac_manager_handle_mac_event(1311), MAC=00:50:79:66:68:01, VLAN=1l, Port=1/1/1 1is
trying to be inserted

2020-05-06:22:32:52. 602027 |12mac-mgrd |LOG_DEBUG|AMM| - | L2ZMAC | L2ZMAC_EVENT [macmgr_m
ac_manager_handle_mac_event(1328), MAC=00:50:79:66:68:01 was successfully inserted

What command will display the debug I2mac events?
A. show module LZMAC

B. show debug terminal

C. show debug buffer module LZMAC

D. show debug all

Correct Answer: C

Reference: https://community.arubanetworks.com/blogs/esupport1/2021/03/17/aos-cx-debugging-mac-address-
movement

QUESTION 4

What is an available command on an Aruba AOS-CX switch that would back up the secondary image to a secure
remote repository?

A. backup secondary sftp://admin@10.1.1.21/GL.10.04.0003.swi
B. copy secondary sftp://admin@210.1.1.21/GL.10.04.0003.swi
C. copy sftp://admin@10.1.1.21/GL.10.04.0003.swi secondary
D. copy secondary tftp://admin@210.1.1.21/GL.10.04.0003.swi

Correct Answer: B

QUESTION 5

Refer to the exhibit.
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VLAN Name Mode Mapping
: DEFAULT VILAN 1 native—-untagged port
10 Sales trunk port
20 Service trunk port
30 Customer trunk port

Which command produces the above output?
A. show interface port 1/1/10 trunk

B. show vlan port 1/1/10

C. show trunk port 1/1/10 extended

D. show interface port 1/1/10 switchport

Correct Answer: C

HPEG6-A72 Practice Test HPEG-A72 Study Guide HPEG-A72 Braindumps

HPE6-A72 Practice Test | HPE6-A72 Study Guide | HPE6-A72 Braindumps 4/4


https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
http://www.tcpdf.org
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html

